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1 2 3 4 5 6 7 8 9 10 11 12 13
1 | Herperko A.M. H.0. 1. Jlerxosoi 732 187,74
TUPEKTOPA, aBTOMOOMITh
3aMECTHUTEID KHWA PUO;
JIUPEKTOpa 110 2. JlerkoBoit
Pa3BUTHIO U aBTOMOOGHJIb
MIPOJBHKE- XyHnait
HUIO YCIIYT, AKIIeHT
2 Ixups P.B. 3amectutens | 1. Kaptupa Jonesas, 2 63,5 Poccus 2563 739,41
JIMPEKTOpa 110
BerepuHapuu | 2. KBapTtupa WunuBnnyanpHas 53,3 Poccust
Cympyr 1. Kaptupa Honesas, %> 63,5 Poccust JlerkoBoit 436 212,98
(cynpyra) 2. 3eMenbHbIi Honesas, 1/73 3763 | Poccus aBTOMOOHITH
y4acToK Nissan
3. lapaxu: | UaauBuyansHas 22,1 Poccus Maxima
Bokc Ne 44
3 | XKecrxkoa M.H. | 3amecturens | 1. KBaptmpa Homnesas, 1/2 80,2 Poccus 2454 761,51
JIMPEKTOpa 0
¢utocanu-
TapHOM pa-
6ote
Cympyr 1. KBaptupa | Jonesas, 1/2 80,2 Poccust JlerkxoBoit 309 724, 50
(cympyra) 2. lapax: WunuBunyanpHas 53,9 Poccust aBTOMOOMITh
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